clear
ele

clear
m=[1,1]; %$lbs"2/ft

E=29000; %ksi

I=3.86; %in"4

L=60; %in
k=[12*E*I/L"3,12*E*I/L"3]1*12*1000; %lb/ft

n=length (m) ;

M=zeros (n) ;

for i=1:n
M(i,1)=M(i,1i)+m(1);

end

M

k=[k,0];

n=length (k) ;

K=zeros (n) ;

for i=1:n-1
K(i,1)=K(i,1i)+k(i)+k(i+1);

i,i+1)=K(i,1i+1)-k(i+1);

K(
K(i+1,1)=K(i+1,1) -k (i+1);

[phi omegal=eig (K, M) ;
phi v *M*phi;

for i=1:length (phi)
phi(:,1i)=phi(:,1)./max (abs (phi(:,1)));

end

phi

w=diag (sgrt (omega) ) ;

T=2*pi./w %s

Mn=diag (phi'*M*phi); %$lbs"2/ft
Mn=Mn*32.2 %lbm

L=ones (length (M), 1) ;

Ln=phi'*M*L; %1bs”"2/ft
ILn=Ln*32.2 %lbm

G=Ln./Mn
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